N ) norLy Al
Celeb 850 (Metric)

M

VistaBeam 610/310 (Metric)

Warning: Celeb 850
USE METRIC ONLY

QTY PART DESCRIPTION  |PART NO.
SCREW M6 18MM
5 é BUTTON ALLEN BOX 2020106

SCREW M6 20MM

HEX CAP ss 'vg' | 2020111

WASHER FLAT 1/4" 2030014
LA

ALLEN WRENCH
5/32" X 4.2”

ALLEN WRENCH
5/64" X 3.3" 2320013

2320012

2320013
?

o_@“‘a\\

®
KINO FLO 5:0n Holywood way Burbank, CA 91505 Rev. 08-08-2018

Tel (818) 767-6528 Fax (818) 767-6528 Part No.3120022
www.kinoflo.com

Sheet 1 of 2



N ) norLe Sl
Celeb 850 (Metric)

VistaBeam 610/310 (Metric)

M

Warning: VistaBeam 600/610, 300/310
USE METRIC ONLY

QTY PART DESCRIPTION  [PART NO.

SCREW M6 18MM
S é BUTTON ALLEN BOX 2020106

SCREW M6 20MM

HEX CAP ss 'vg' | 2020111

WASHER FLAT 1/4” 2030014
LA

ALLEN WRENCH
5/32" X 4.2”

ALLEN WRENCH
5/64" X 3.3" 2320013

2320012

2320013

®
KINO FLO 20w Holywood Way Burbank, CA 91505 Rev. 08-08-2018

Tel (818) 767-6528 Fax (818) 767-6528 Part No.3120022
www.kinoflo.com

Sheet 2 of 2



	3120022  PRT-VB-135.vsd
	Page-1
	Page-2


